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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019.
Second Year
(1) ENGLISH PAPER - 11
Time : Three hours Maximum : 70 marks

(All Sections are compulsory)

SECTION - A

1. (a) Read the following passage and answer the questions : 5)

True economy consists in always making the income exceed the outgo. Wear
the old clothes or little longer if necessary ; dispense with the new pair of
gloves ; mend the old dress, dine on a plainer food, if need be ; so that under
all circumstances, unless some unforeseen accident occurs. There will be a
margin in favour of the income.

(1) Where in the true economy?

(11) What are the three domestic things mentioned?

(111) What does the writer say?

(iv) Write the antonym of ‘exceed’.

(v)  Pick out the word from this passage which is the synonyms for ‘repair’.

(b) Read the following paragraph and answer the questions by choosing the right
answer :

®)

The press and public were all fire and fury, especially in America. A bill was
passed by the senate according to which the manufacturer of nitro-glycerin
would, in the event of an accident, be charged with murder and liable to be
sentenced to death by hanging. Britain introduced safety regulation which
amounted to a virtual ban on the import and manufacture of nitro-glycerin.
France and Belgium made the possession of the dangerous oil. Alfred Nobel
saw himself face to face the ruin. There was only one way out of the dilemma
; that of trying to solidify the oil so that it could be transported with absolute
safety.

(1)  Nitro-glycerin was manufactured by
(1) The Scientists

(2) The Nobles



(3) The Doctors
(4) Larsen.
(1) A virtual ban was put by
(1) Britain
(2) Belgium
(38) France
(49) America
(1) Nitro-glycerin is
(1) Medicine
(2) Dangerous weapon
(3) A dangerous oil
(4) Gun-powder
(iv) The man who tried to solidify oil was
(1) Larsen
(2) Pringle
(3) Nobel
(4) Alfred Nobel
(v) The press and public were all fire and fury in
(1) France
(2) America
(3) Belgium
(4) Pringle
Answer any TWO of the following in not more than 100 words each : (2x4=28)
(a) How did books enrich Keller’s life?
(b) Comment on L.A. Hill’s views on Freedom

(¢) Why did Orwell change his mind and decide to shoot the elephant?

(d) What are the factors contributing to knowledge society?

Answer any ONE in about 200 words : (7

(a) What exactly is Man’s peril according to Russell?



(b) What are the principles of good writing according to L.A. Hill?
(¢) Summarize Gandhi’s experience as a student in London.

SECTION - B

(a) Answer any ONE question in about 100 words : (4)
(1) Why does Ulysses want to leave Ithaca?
(11) What is India’s gift to the First World War?
(111) Write an appreciation of the poem “Mending Wall”.

(b) Explain any ONE of the following : 4
(1) ‘Tam apart of all that I have met’.
(1) Good fences make good neighbours

(1) I fall upon the thorne of life ! I bleed !

Answer any ONE of the following in about 200 words : (6)
(a) Write an appreciation of the poem “Because I could not stop for Death”.
(b) Browning’s “The Last Ride Together” is a dramatic monologue. Discuss

(¢) Summarize the poem, “Advice to fellow swimmers”.
SECTION - C
Answer any ONE question in about 200 words : (6)
(a) Explain how “The Lottery Ticket” is a study of human psychology.
(b) Describe the friendship of Subha and Pratap.

() Attempt an evaluation of the grain merchant’s character in ‘Diamond Rice’.

SECTION - D

Read the following passage and summarize it : (5)

There are times when the night sky glows with bands of colour. The bands may
begin as cloud shapes and then spread into a great arc across the entire sky. They
may fall in folds like a curtain drawn across the heaven. The lights usually grow
brighter and then suddenly dim. During this time the sky glows with pale yellow,
pink, violet, blue and red. These lights are called the Aurora Borealis or the
Northern lights.

The solar particles from the sun enter the Earth’s magnetic field and collide with
gas particles in the Earth’s atmosphere. These collisions create the Northern
Lights.



The kinds of particles bumping into each other determine the colours of the
Northern lights. If the solar particles collide with oxygen, the lights produced
might be green or yellow. When the solar particles run into nitrogen, the lights
tends to be red or blue. How fact the particles are moving determine the size and
shape of the lights.

In ancient times people were afraid of the lights. They imagined that they saw
fiery dragons in the sky. Some even concluded that the heavens were on fire.

8. Write an essay on ONE of the following : 5)

(a) Advancement of science and Human life
(b) Communal harmony

(¢) Globalisation.

9.  Answer any ONE of the following : (5)
(a) Write a report on how you intend to spend your vacation.

(b) Write a report to the editor of a newspaper on Eve teasing in your area.

10. Use FOUR of the following idioms and phrases in sentences of your own : 5)
(a) Lion’s share
(b) Cake walk
(¢) Monkey business
(d) Better late than never
(e) A dime a dozen
() Beat around the bush
(g) When Pigs fly
(h) Best of both worlds.

11. Answer any ONE question : (5)
(a) Write a letter to a friend inviting him to your hometown.
(b) Write a dialogue between you and a shopkeeper at a bookstall.

() Write a letter to a publishing house asking for a catalogue of its latest
publications.
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Only the lazy man is a sinner. The idle mind entertains bad ideas. There is a
proverb that the idle mind is the devil’s workshop. There is no greater sin than laziness
and inactivity. Every one should avoid these at any cost. The only way to avoid these is
to engage one self is good deeds. Service to patients, help to brothers and sisters, co-
operation with friends, respect and service to teachers are deeds in which men should
engage their mental faculties.
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1.  Answer any TWO questions. (2 x 10 =20)
&I IR forzmal
(a) Sketch the character of Duryodhana as described in Urubhanga.
GAlEreR 2fte umIfRRT od ?
(b) Sketch the character of Jeemutha Vahana as described by Sriharsha.
SfeaaTgera 2ftet umfemYl o 2
(¢) Sketch the character of Baladeva.
TR A} o ?
(d) Sketch the character of Sudama (Kuehela) as described in Sri Krishnasya
Maitri.
FoerR 2fte IR $od ?
2 (a) Describe how Viswamitra attained the status of Brahmarshi. (10)
fareanfe: Fo geafd: areyq 2 fergara?
Or
(b)  Write the substance of the story
“farwst: Svey?

fayenvreafafe wurRm: AR forzrd 2
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Write the forms of any FOUR of the following adding the given terminations.
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B.A./B.Com./B.Sc./B.H.M./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019.
Second Year
ENVIRONMENTAL STUDIES

Time : Three hours Maximum : 100 marks

SECTION A — (4 x 10 = 40 marks)
Answer any FOUR of the following.
Each question carries 10 marks.
1.  Write the aims and objects of environmental studies.

DTHOE WEHZATIAI0 Q3T OFF0 DO eBATIVD0 (PO500C.

2. Important mineral resources of our country — Discuss.

$50:58%08° Ko éoozpséoé PO BV KJ"@Q é@ooz‘éo&.

3. Define food chain and explain food web.

0 MO0 H0AIW 85805 HOB0 DB D3B0Boc.

4.  Describe grass land ecosystem.

NG Dogrss et Sg5ps D500wHed.

5.  Economical role of bio-diversity.

530550 Bk, REBST0P FWB> ASBoHod.

6. Explain secondary pollutants with suitable examples and effects.

V0D ETE 0SS &539050 g"@oég ETOE80 DH00D0C.

7.  Coastal zone management and sustainable tourism. Explain.

DS (Frogro ABEd H5o0AT R0QT BOTGEE BoroBo IVOOBOG.

8.  Ozone whole depletion and acid rains — Explain.

8,875 és&é 5000500 359 SY B8 D380B06.



10.

11.

12.

13.

14.

SECTION B — (3 x 20 = 60 marks)
Answer any THREE of the following.

Each question carries 20 marks.

Explain the economical and ecological role of forest resources.

€963 HBB0 B0y, 05 D0 598683 HVoR0E BB ABB0BOG.

Give an account on the structure and functions of an ecosystem.

(EheTetar) 55578 Q3008), g)U"&S’&éJ& 5080320 DE0DKS BODOC.

Define succession and write 1ts mechanism.

BEDH0E0 ABGIOW, EBOED IF°HHE0 Htelotalele

Why India is called as mega diversity region?

GPOBRFB0050 T B VL5 BF BT DOLIES DLOT B9

Give an account on the sources of effects and control measures of air pollution.

T°ATR TR TS, (P70 080500 JOB0Es Zacg 0080 BODOG.

What are the various steps involved in the preparation of EIA report?
DTGHBET (HEFPABO B WOTO Bk, DOBD IIGE SAFES’ Ko DV SFS5
3O D300B0G.
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B.A./B.Com./B.Sc./B.HM./B.B.A./B.B.M. DEGREE EXAMINATION, DECEMBER 2019.
Second Year
(1i1) SCIENCE & CIVILIZATION

Time : 1% hours Maximum : 50 marks
SECTION A — (2 x 13 = 26 marks)

Answer any TWO questions.

1.  Give an account on the significance discoveries in the medical field during 20t
Century.

20 $ ¥og0® 3gB0K0S” HBODS (BB HBO &8 TFOZN FPALVIN.

2. Express significance of communication and its sources.

FPIDVEA0 AT, (22005 0803 TP BHPE0OD DIB0NHHN.

3. Explain the problem with conventional energy sources with suitable examples.

BRY BEITEe0E” SoESEraD 8SIWOE” SR DNBoWBL.

4. Describe some society goals.
§°Q) PR OF 5O DHBoEBW.
SECTION B — (3 x 4 = 12 marks)

Answer any THREE questions.
5. (a) X'ray
258

(b) Copper age
oP@AVKE

() Steam Engine
e30800| 9500

(d) Purification of Metals
STs000 @Y, HELSe

(e) Radio
3&B

®  Equinoxes
&e8rEyen



SECTION C — (3 x 4 = 12 marks)

Answer ALL questions.

Fill in the blanks :-
PPOH BP0,

(a) invented Radio.
BAERBICHD BN D,

(b) ILO means
0.05.8, X7 )

(¢) Fertilizers are used in
BP0 B &IBI A .

(d) Blue revolution is related to
PODHH0 I8 H020BoDDID .

Choose the correct word.
BOC35 BLVBIS Qo 052.

(a) X'ray passes through
28y8 BIHoT Dehehod

(1) Bones (11) Body
RRINECH ¥8%0

(111) Muscles (iv) Veins
Eokoren B0

(b) Vaccination is given for
635° BIES0 ABGEOD

i B.P. (i) Polio
8.2 D8OToe
(1) Sugar (iv) Paralysis
8, 8758 2Ty (SET°E0)

(¢) Who invented Telephone
BODEDI IS ERORID

(1  Graham bell (1) Thomas
[0S &0
(1) Flemming (iv) Henry Fayol

20N TR PAHd



(d) Green Revolution is related
588 D30 BB Ho20FoAIB

(1)  Agriculture (1) Animal husbandry
EIRMSLOVRIY B0

(111) Green colour (iv) Operation
S3\8010 3585

Match the following :-

2O NVTD0S30 -

(a) Television (1) Bamboo
B3Oesd SlaVel

(b) Paper (1) Charles Babbage
DB B0 DR

(¢) Insulin (111) Communication
CRVON 2P (HCED00

(d) Computer (iv) Diabetic

éo?/.g)"‘?seos égbiﬁ&f"é@
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B.B.M. DEGREE EXAMINATION,
DECEMBER 2019.

Second Year
MACRO ECONOMICS
Time : Three hours Maximum : 70 marks
Answer any FIVE questions.

All questions carry equal marks.

1. Explain the following concepts :
(a) NNP
(b) GNP
(cg PI
(d NI
2.  Discuss the problems faced in measurement of National Income.
3. Elucidate the Keynesian theory of income and output.
4. Critically examine the principle of liquidity preference.
5. Explain the functioning of Deposit insurance corporation.

6. Discuss the quantitative method of Credit Control of RBI.

7.  What do you mean by Macro Economics? Discuss its nature and importance in the
economy.

8. Explain the recent trends in the Indian Banking Industry.

9.  What is the importance of trade cycles? Describe the various phases of trade
cycles.

10. Explain the classical theory of output and employment with its criticism.
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B.B.M. DEGREE EXAMINATION, DECEMBER 2019.
Second Year

BUSINESS STATISTICS

Time : Three hours Maximum : 70 marks

10.

Answer any FIVE questions.
All questions carry equal marks.
Explain the sources of collection of primary data.
What are the essentials of good average? Explain different types of averages.

Calculate median and mode for the given data :
Age : 0-10 10-20 20-30 30-40 40-50 50-60 60-70

Persons: 150 350 400 200 75 50 25

What are the merits and demerits of presentation of data through diagrams?

Find the two regression lines X on Y and Y on X from the following data :
x: 65 66 67 67 68 69 70 T2

y: 67 68 65 68 72 72 69 71

Define interpolation and mention the assumptions of interpolation.
Define correlation and explain any three types of correlation.

(a) If two dice are thrown find the probability of getting the sum is 10.

(b) Find the probability of a leap year contains
Sundays.

Explain the procedure of testing of hypothesis.

Explain the structure of a research report in brief.

53
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B.B.M. DEGREE EXAMINATION, DECEMBER 2019.
Second Year

FUNDAMENTALS OF MARKETING

Time : Three hours Maximum : 70 marks

10.

Answer any FIVE questions.

All questions carry equal marks.

Define Marketing. Explain the need and objectives of Marketing.

What is Marketing Environment? Explain the internal factors affecting marketing

environment.

What is consumer behaviour? Explain the factors influencing purchase and repeat

purchase.
Define Market Segmentation. Explain the methods of Market Segmentation.
Explain the types of Branding. List out the merits and demerits of Branding.

What is the need of price determination in marketing? Briefly explain the methods

of pricing.

Discuss in detail the elements of promotion mix and the importance of promotion

mix.
Discuss the publicity methods in detail.

Explain the functions of a Retailer and his role in the various distribution

channels.

What are the features of good packing? Explain the importance of packing a

product to attract customers.
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PRINCIPLE OF PERSONNEL MANAGEMENT

Time : Three hours Maximum : 70 marks

10.

Answer any FIVE questions.
All questions carry equal marks.

What is management? Discuss theory X and theory Y.
Explain the role and responsibilities of key personnel positions.
Write in detail about the sources of recruitment in an organisation.
Discuss the wage and salary components.
Explain the various incentive schemes provided in an organisation.
Explain the kinds of fringe benefits in India.

What is man power planning? Explain the need and process of man power
planning.

What is collective bargaining? Explain its importance in dispute settlement.

What are the reasons for turnover and absenteeism in an organisation? Discuss
the ways to handle this.

What is Industrial democracy? Bring out the significance of Industrial relations in
an organisation.
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B.B.M. DEGREE EXAMINATION,
DECEMBER 2019.

Second Year

BASIC BUSINESS FINANCE
Time : Three hours Maximum : 70 marks

Answer any FIVE questions.

All questions carry equal marks.

1. What do you mean by business finance? State its goals in detail.
2. Define Capital market. Discuss its objectives and importance.
3.  What are the types of shares? Distinguish between share and debenture.

4. A simplified income statement of Karthikeya Ltd. is given below. Calculate and
interpret its operating leverage, financial leverage and combined leverage. Income
statement of Karthikeya Ltd. for the year ended 31st March 2015.

Rs.
Sales 10,50,000
Variable cost 7,67,000
Fixed cost 75,000
Interest 1,10,000
Taxes (30%) 29,400

Comment on operating leverage when fixed cost is Rs.1,00,000.

5. Explain the meaning and causes of over capitalisation. Discuss its remedies in
detail.



10.

The details regarding two companies are given below

XYZ Litd ABC Ltd
r=12% r=6%
Ke = 8% Ke = 8%
E=Rs.10 E=Rs.10

Compute the value of an equity share of each of these companies applying Walter’s
equation when dividend pay-out ratio is

(a) 0% and
(b) 100%

Briefly explain the main sources of working capital.
Discuss the various factors influencing the dividend policy of a firm.
Define Capital structure. Explain theories of capital structure in detail.

Write a note on :

(a) Amalgamation

(b) Cost of retained earnings
() WACC

(d) Cash management.




